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SHISTTSTae TPUT 3. 900 3Tgel. ALY B, 900, B. 0 T 2. 90 T Fof! Alel 3d. . 900 T 3. 90
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9) 3, 99, & R) 8, ¢, ¢ 3)4.,4, 90 8) & 2 IR

Rutuja has a total of Rs. 700 as currency notes in the denomination of Rs. 100, Rs. 20 and Rs. 10.
The ratio of the number of Rs. 100 and Rs. 10 notes is 1: 2. If she has a total 20 number of notes,
then how many notes of each Rs. 100, Rs. 20 and Rs. 10 does she have ?

)3, 11,6 2)4,8,8 3)5,5,10 4)6,2,12

2 B thehedHeR 9 UeTT HHT SIS fosumt FuTear e

1) 4/9 ) /3 3) 9/3 8) 1/
On rolling 2 dice, the probability of getting sum less than 7 is ...........
1) 5/12 2) 2/3 3) 1/3 4) 1/2

QUESTION 3T Slecied Y Haslarrd! 37eft fae axeare amg &, SATd BHid HHl R FRmEl FHIE
3RS STITOT PIUITE! HIeRTd GRIgT! ! e, IR el s fodl TR d=ar I5s o Q.

q) ?W ) Y 3) 8¢ 8) Y
Find the number of ways selecting 5 letters from the word QUESTION, so that at least two vowels

are included and no letter repeated.
1) 24 2) 25 3) 48 4) 52

SRAdT30% =024 B=CMY WRA:B:C=?
9) 94 : 92 : 90 )9 :94: 90 3) 90 : IR : 9y ¥) 90 : 94 : 93
If 30% of A=0.25,B = (;’thenA:B:C=?

1) 15:12:10 2) 12:15:10 3) 10:12:15 4) 10:15:12

T TMETT HRISH SR ¢R%, T2t ST 0E % Al SRIT el HIST STUUIR :_8Y Al 3Ted, SR T
TaTT gl WINT 7 SR % elld 3RTcIel aR < et alpeavea faseft 2

9) Q00 ) 300 3) 300 8) 3400
In a village 82% people know Marathi, 76% people know Hindi and 2244 people know bothMarathi
and Hindi. If there are 8% people in that village who don’t know both languages, thenwhat is

population of that village ?
1) 2200 2) 3200 3) 3400 4) 3500

T : (90) <A, UriieRt, IRRRY, GHIIT, G9TdT, ST
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